Assignments for Class X

Geography

Choose the correct answer for each question.

Q.1: 59% of the country’s total population that speaks Dutch, lives in
(a) Wallonia region

(b) Brussels

(c) Flemish region

(d) None of these

Q.2: Why did the Sri Lankan Tamils launch parties and struggle?
(a) to adopt maijoritarianism

(b) to recognise Sinhalese as the only official language

(c) to recognise Tamil as an official language

(d) to dominate other languages

Q.3: The main significance of Belgium Model of Power Sharing
(a) Majoritarianism

(b) power shared in all ethnic groups according to their population
(c) on the basis of adult franchise

(d) none of the above

Q.4: What is a coalition government?

(a) power shared among different social groups

(b) power shared among different levels of government
(c) power shared among different political parties

(d) power shared among different organs of government

Q.5: Where is the parliament of the European Union?
(a) Belgium

(b) Britain

(c) Germany

(d) France

Q.6: Which of the following community is in majority in Sri Lanka?
(a) Tamil
(b) Sinhala
(c) Buddhist
(d) Hindu

Q.7: Which one of the following is the 3rd tier of government in India?
(a) Community Government



(b) State Government
(c) Panchayati Raj Government
(d)bothb & c

Q.8: Federalism is:

(a) a form of unitary government

(b) a government with two or multi-levels of government
(c) a form of autocratic government

(dya&ec.

Q.9: Which of the following is not a federal country?
(a) India

(b) Belgium
(c) USA

(d) Malaysia

Q.10: Which of the following is an example of holding together federation?
(a) Spain

(b) Australia
(c) India
(da&c

Q.11: How many languages are scheduled in the Indian Constitution?

Q.13: When did the Panchayati Raj System become a constitutional entity?
(a) 1992

(b) 1991

(c) 1993

(d) 1995

Q.14: Which of the following is a very important factor for better understanding between Centre and
State’s Government?

(a) the emergence of regional political party

(b) the beginning of the era of coalition government
(c) when no single party got a clear majority



(d) all the above factors

Q.15: Why is there a need for a third level of government in India?

(a) a large number of problems and issues which are best settled at the local level
(b) Indian states are large and internally very diverse
(c)a&b
(d) none of above.

Q.16: How many people speak French and Dutch in the capital city of Brussels?
(a) 60% French 40% Dutch
(b) 50% Dutch 50% French
(c) 80% French 20% Dutch
(d) 80% Dutch 20% French
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Q.17: How many times the leaders of Belgium amended their constitution?
(a) Two times

(b) Three times

(c) Four times

(d) Six times

Q.18: Which one of the following is correct regarding power sharing?
A. It leads to conflict between different groups.

B. It ensures the stability of the country.

C. It helps to reduce the conflict between different groups.

(a) Only Ais true

(b) Only B is true

(c) Both A and B are true

(d) Both B and C are true

Q.19: Which is the only official language of Sri Lanka?
(a) Tamil
(b) Malayalam

(c) Sinhala

(d) none of the mentioned above

Q.20: Which community was rich and powerful in Belgium?
(a) German

(b) French

(c) Dutch

(d) none of the mentioned above



Political Science

Choose the correct answer for each question.

Q.1: Khader is a type of
(a) Black Sail

(b) Alluvial Soil

(c) Lattrite Soll

(d) Desert Soil

Q.2: Resource which can be renewed again are:-
(a) National Resource

(b) Potential Resource

(c) Renewable Resources

(d) Stock

Q.3: In which year was the Earth Summit held?

Q.4: How much percentage of land is plain in India?
(a) 41 %

(b) 45%
(c) 43%
(d) 47%

Q.5: Which Soil is known as Black Cotton soil?
(a) Red Saoil

(b) Arid Sail

(c) Mountain Saoil

(d) Black Sail

Q.6: Soil can be Conserved by:-
(a) Cutting of Trees

(b) Over Grazing

(c) Planting of Trees

(d) Excessive mining

Q.7: Land degradation due to over-irrigation can be seen in the states of:-
(a) Punjab and Haryana

(b) Assam

(c) Orissa



(d) Mizoram

Q.8: Which one of the following is an example of Biotic Resource:-
(a) Rock

(b) Mountain
(c) Mineral
(d) Flora

Q.9: They are Gifts of Nature which satisfy human wants:-
(a) a commodity

(b) a thing

(c) resources

(d) None of Them

Q.10: Which one of the following is an example of non- renewable resources
(a) Solar Energy

(b) Tidal Energy

(c) Petroleum

(d) Hydel Energy

Q.11: On the basis of ownership, resources can be classified into:-
(a) Two Types

(b) Three Types

(c) Four Types

(d) None of Them

Q.12: How many Economic zones are there in India?

(a) Five

(b) One

(c) Two

(d) Ten

Q.13: Soil is a:-

(a) Renewable Resource
(b) Potential Resource
(c) Non- Resource

(d) None of them

Q.14: In which one of the following states is terrace cultivation practised?
(a) Punjab

(b) Haryana

(c) Uttar Pradesh

(d) Uttaranchal



Q.15: Which one of the following in the main cause of land and water pollution in India in recent
years?

(a) Industrial Effluents

(b) Chemical Fertilizer

(c) Deforestation

(d) None of them

Q.16: Coal, iron ore, petroleum, diesel etc. are the examples of
a) Biotic resources

b) Abiotic resources

c) Renewable resources

d) Non Renewable resources
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Q.17: Which one of the following terms is used to identify the old and new alluvial respectively?
(a) Khadas & Tarai

(b) Tarai & Bangar

(c) Bangar & Khadar

(d) Tarai & Dvars

Q.18: Which one of the following soil is the best for cotton cultivation?
(a) Red soil

(b) Black sail

(c) Laterite soil

(d) Alluvial soil

Q.19: How much percentage of forest area in the country according to the National Forest Policy?

Q.20: Which type of soil develops due to high temperature and evaporation?
(a) Arid Soil

(b) Forest Soil

(c) Black Soil

(d) Red Saoil

Q.21: Which one of the following resources can be acquired by a Nation?
(a) Potential resources

(b) International resources

(c) National resources

(d) Public resources

Q.22: Which one of the following is responsible for sheet erosion?
(a) Underground water



(b) Wind
(c) Glacier
(d) Water

Q.23: Which one of the following methods is used to break up the force of wind?
(a) Shelter belt

(b) Strip Cropping

(c) Contour ploughing

(d) Terrace farming

Q.24: Which one of the following is the main cause of land degradation in Madhya Pradesh?
(a) Mining

(b) Overgrazing

(c) Deforestation

(d) Over Irrigation

Q.25: Which one of the following statements refers to sustainable development?
(a) Overall development of various resources

(b) Development should take place without damaging the environment.

(c) Economic development of people.

(d) Development that meets the desires of the members of all communities.



